Efficiency vs dr

0.8

0.7

0.6

efficiency vs AR

0.5

0.4

0.3

0.2

0.1

||||-!-r-r1-|!||||!|||||||||!||||!||||!||||

Ratio

EW

—TT-NEWde
T
T-NEWdel

TT_NEW
T
T

0.95
1078 1072 107t

1
TP min AR

[ Efficiency vs dr (track,jet) |
§ 0.1
0 0.09
=
o
z 0.08
£20.07
>
20.06
@
o
£ 0.05]
3]
0.04
0.03
0.02
0.0
e

Ratio
N

0.95

-1

1072

=
S
w

1
AR(TP, jét)

Efficiency vs pu

0.5
0.45

0.35

efficiency vs PU
o
D

o
w

0.25
0.2
0.15
0.1
0.05]

1.0

Ratio

]
A
e
i

1

093630 40 50 60 70 80 90 100




	Contents
	Page 1


